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Q.1(a) What are the three axioms of consumer preference? Explain. [3] 
Q.1(b) A consumer has the utility function over goods x and y, 

u(x,y) = √𝑥  + ඥ𝑦   
Let the price of good x be given by 𝑝௫, let the price of good y be given by 𝑝௬, and let income be 
given by M. 

(i) Derive the consumer’s generalized demand function for good y. 
(ii) Is good y normal or inferior? 

(iii) If we have 𝑝௫=2, 𝑝௬=1, and M=12, compute the utility maximizing consumption bundle of 
goods x and y. 
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Q.2(a) What is meant by returns to scale? Explain profit maximization with respect to different returns to 
scale. 

[4] 

Q.2(b) A firm operates with a production function: 
Q=10L+2K. 
The price (in thousands) of labour (L) is Rs. 5 per unit and of capital is Rs. 2 per unit. 

(i) Find the marginal product of labour and capital. 
(ii) Find the optimal input combination that firm must use to produce 200 units of output, and 

the total cost. 
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Q.3(a) Explain short run and long run cost. [5] 
Q.3(b) The total cost of producing output 𝑞 is 

𝑇𝐶(𝑞) = 100 + 𝑞ଶ. 
Find the Average variable cost, Average total cost, and Marginal Cost. At what level of output is 
Average variable cost minimized? 

[5] 

   
   

Q.4(a) Explain by only graphs (draw rough graphs, NO GRAPHS WILL BE PROVIDED) what happens to long 
run supply curve when tax is imposed. 

[5] 

Q.4(b) A firm’s production function is f(x1, x2) = (max{x1, 3x2})1/2. If the price of factor 1 is w1 = Rs. 5 and 
the price of factor 2 is w2 = Rs. 15. What is the supply function? 

[5] 

   
   

Q.5(a) Why are monopolies inefficient? Explain with regards to total surplus. Use only graphs to explain. 
(Draw rough graphs, NO GRAPHS WILL BE PROVIDED). 

[5] 

Q.5(b) What are the three price discrimination strategies used by monopolies? [5] 
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